Locality Name: Fairfay County				
Locality Name: Fairfax County Gross Receipts	Current Revenue	No. of Licenses	Flat Data	Dropood Povopuo
\$0 - \$100,000	\$685,957	25,762	\$25.00	Proposed Revenue \$644,050
\$100,001 - \$250,000	\$2,062,946	5,844	\$50.00	
\$250,001 - \$250,000	\$3,035,602	4,147	\$150.00	\$622,050
\$500,001 - \$300,000	\$5,035,002	3,737	\$500.00	\$1,868,500
\$1,000,001 - \$1,000,000	\$21,075,814	5,021	\$1,000.00	
\$1,000,001 - \$5,000,000 \$5,000,001 and over	\$59,054,258	1,643	\$2,500.00	
Totals	\$91,203,368	46,154	\$2,500.00	\$12,555,300
Totals	φ91,203,300	40, 154		\$12,555,500
Locality Name: FAUQUIER COUI	NTV			
	Current Revenue	No. of Licenses	Flat Rate	Proposed Revenue
\$0 - \$100,000	\$14,959	1349		
\$100,001 - \$250,000	\$88,908	364	\$50.00	· · · · · · · · · · · · · · · · · · ·
\$250,001 - \$250,000	\$95,945	206	\$150.00	
\$500,001 - \$300,000	\$128,803	137	\$500.00	•
\$1,000,001 - \$1,000,000		108	\$1,000.00	
\$5,000,001 - \$5,000,000 \$5,000,001 and over	\$236,014 \$241,910	22	\$2,500.00	
\$5,000,001 and over	\$806,539	2186	\$2,500.00	\$314,325
Totals	<u> </u>	2100		φ3 1 4 ,323
Locality Name: Managaga				
Locality Name: Manassas Gross Receipts	Current Revenue	No. of Licenses	Flat Rate	Proposed Revenue
\$0 - \$100,000	\$69,895	281	\$25.00	•
\$100,001 - \$250,000	\$104,205	318		
\$250,001 - \$250,000	\$104,203	232	\$150.00	
\$500,001 - \$300,000	\$216,828	179		
\$1,000,001 - \$5,000,000	\$588,528	183	\$1,000.00	
\$5,000,001 - \$3,000,000 \$5,000,001 and over	\$679,444	41	\$2,500.00	\$102,500
Totals	\$1,804,343	1234	Ψ2,300.00	\$432,725
lotais	Ψ1,004,040[1234		Ψ432,123
Locality Name:HAMPTON				
Gross Receipts	Current Revenue	No. of Licenses	Flat Rate	Proposed Revenue
\$0 - \$100,000	\$150,634	4,467	\$25.00	\$111,675
\$100,001 - \$250,000	\$321,001	685	\$50.00	•
\$250,001 - \$500,000	\$518,731	485	\$150.00	•
\$500,001 - \$1,000,000	\$729,216	346		
\$1,000,001 - \$5,000,000	\$2,204,386	421	\$1,000.00	
\$5,000,001 and over	\$3,953,779	100	\$2,500.00	
Totals	\$7,877,747	6,504	Ψ2,000.00	\$1,062,675
Totals	φι,σιι,ιπι	0,004		Ψ1,002,013
Locality Name:Goochland County				
Gross Receipts	Current Revenue	No. of Licenses	Flat Rate	Proposed Revenue
\$0 - \$100,000	\$29,932	722		•
\$100,001 - \$250,000	\$32,221	201	\$50.00	
\$250,001 - \$500,000	\$45,649	136	\$150.00	\$20,400
\$500,001 - \$1,000,000	\$56,038	85	\$500.00	
\$1,000,001 - \$5,000,000	\$124,027	71	\$1,000.00	
\$5,000,001 and over	\$143,511	15	\$2,500.00	
Totals	\$431,378	1230	Ψ2,000.00	\$199,500
i otais	Ψ+σ+,σ+σ	1200		Ψ100,000
Locality Name: Radford				
Gross Receipts	Current Revenue	No. of Licenses	Flat Rate	Proposed Revenue
Cross rescipts	Surrout Novembe	710. 01 LI0011303	i iai i tate	opocou revenue

\$0 - \$100,000			\$25.00	
\$100,001 - \$250,000			\$50.00	
\$250,001 - \$500,000		510		
\$500,001 - \$1,000,000		310	\$500.00	Ψ10,300
\$1,000,001 - \$5,000,000			\$1,000.00	
\$5,000,001 and over			\$2,500.00	
Totals		510	Ψ2,300.00	\$76,500
Totalo	Ψ201,111	010		Ψ7 0,000
Locality Name:HOPEWELL				
Gross Receipts	Current Revenue	No. of Licenses	Flat Rate	Proposed Revenue
\$0 - \$100,000		1293		
\$100,001 - \$250,000				
\$250,001 - \$500,000			\$150.00	
\$500,001 - \$1,000,000			\$500.00	
\$1,000,001 - \$5,000,000				
\$5,000,001 and over		23		\$57,500
Totals		1755	. ,	\$248,275
Locality Name: KING GEORGE	COUNTY			
Gross Receipts	Current Revenue	No. of Licenses	Flat Rate	Proposed Revenue
\$0 - \$100,000	\$16,525	553	\$25.00	\$13,825
\$100,001 - \$250,000	\$19,774	88	\$50.00	\$4,400
\$250,001 - \$500,000	\$5,123	60	\$150.00	\$9,000
\$500,001 - \$1,000,000	\$40,385	38	\$500.00	\$19,000
\$1,000,001 - \$5,000,000	\$143,006	43	\$1,000.00	\$43,000
\$5,000,001 and over	\$439,597	20	\$2,500.00	\$50,000
Totals	\$664,410	802		\$139,225
Locality Name: City of Poquosor				
Gross Receipts			Flat Rate	•
\$0 - \$100,000				
\$100,001 - \$250,000			\$50.00	
\$250,001 - \$500,000			\$150.00	
\$500,001 - \$1,000,000			\$500.00	
\$1,000,001 - \$5,000,000			\$1,000.00	
\$5,000,001 and over			\$2,500.00	
Totals	\$269,452	732		\$58,325
	•		l	
Locality Name: Spotsylvania Cou		No of Linears	Flat Data	Dropped Davis
Gross Receipts		No. of Licenses		Proposed Revenue
\$0 - \$100,000		99		
\$100,001 - \$250,000				
\$250,001 - \$500,000		383		
\$500,001 - \$1,000,000		342	\$500.00	-
\$1,000,001 - \$5,000,000				
\$5,000,001 and over			\$2,500.00	
Totals	\$2,459,099	1691		\$801,625
Locality Name: City of Winchest	er			
Gross Receipts	Current Revenue	No. of Licenses	Flat Rate	Proposed Revenue
\$0 - \$100,000	\$97,313			
\$100,001 - \$250,000	\$149,154	283		

\$250,001 - \$500,000	\$191,138	175	\$150.00	\$26,250
\$500,001 - \$1,000,000	\$314,163	150	\$500.00	\$75,000
\$1,000,001 - \$5,000,000	\$596,878	128	\$1,000.00	\$128,000
\$5,000,001 and over	\$1,330,749	42	\$2,500.00	\$105,000
Totals	\$2,679,395	1,767		\$373,125
Locality Name: AUGUSTA COUN	ITY			
Gross Receipts	Current Revenue	No. of Licenses	Flat Rate	Proposed Revenue
\$0 - \$100,000	\$11,023	3,361	\$25.00	\$84,025
\$100,001 - \$250,000	\$154,069	464	\$50.00	\$23,200
\$250,001 - \$500,000	\$200,001	283	\$150.00	\$42,450
\$500,001 - \$1,000,000	\$252,317	176	\$500.00	\$88,000
\$1,000,001 - \$5,000,000	\$683,272	173	\$1,000.00	\$173,000
\$5,000,001 and over	\$499,188	35	\$2,500.00	\$87,500
Totals	\$1,799,870	4,492	+ _,000100	\$498,175
	4 1,1 00,101	-,		4 100,110
Locality Name:Southampton				
Gross Receipts	Current Revenue	No. of Licenses	Flat Rate	Proposed Revenue
\$0 - \$100,000	\$18,468	375	\$25.00	\$9,375
\$100,001 - \$250,000	\$6,496	29	\$50.00	\$1,450
\$250,001 - \$500,000	\$10,031	18	\$150.00	\$2,700
\$500,001 - \$1,000,000	\$7,268	9	\$500.00	\$4,500
\$1,000,001 - \$5,000,000	\$30,281	6	\$1,000.00	\$6,000
\$5,000,001 and over	Ψ00,201	0	\$2,500.00	Ψο,σσο
Totals	\$72,545	437	Ψ2,000.00	\$24,025
rotalo	Ψ12,010	101		Ψ2 1,020
Locality Name: TOWN OF SHEN	ANDOAH			
Gross Receipts	Current Revenue	No. of Licenses	Flat Rate	Proposed Revenue
\$0 - \$100,000	\$5,687	91	\$25.00	\$2,275
\$100,001 - \$250,000	\$4,751	12	\$50.00	\$600
\$250,001 - \$500,000	\$4,900	5	\$150.00	\$750
ØEOO 004 - Ø4 000 000		ગ	ψ150.00	Φ13U
\$500,001 - \$1,000,000	\$9,327	6	\$500.00	
\$500,001 - \$1,000,000 \$1,000,001 - \$5,000,000				\$3,000
	\$9,327	6	\$500.00	\$3,000 \$5,000 N/A
\$1,000,001 - \$5,000,000	\$9,327 \$23,028 N/A	6 5	\$500.00 \$1,000.00	\$3,000 \$5,000
\$1,000,001 - \$5,000,000 \$5,000,001 and over	\$9,327 \$23,028 N/A	6 5 N/A	\$500.00 \$1,000.00	\$3,000 \$5,000 N/A
\$1,000,001 - \$5,000,000 \$5,000,001 and over	\$9,327 \$23,028 N/A \$47,693	6 5 N/A	\$500.00 \$1,000.00	\$3,000 \$5,000 N/A
\$1,000,001 - \$5,000,000 \$5,000,001 and over Totals	\$9,327 \$23,028 N/A \$47,693	6 5 N/A	\$500.00 \$1,000.00 \$2,500.00	\$3,000 \$5,000 N/A
\$1,000,001 - \$5,000,000 \$5,000,001 and over Totals Locality Name: City of Lexingto	\$9,327 \$23,028 N/A \$47,693	6 5 N/A 119	\$500.00 \$1,000.00 \$2,500.00	\$3,000 \$5,000 N/A \$11,625
\$1,000,001 - \$5,000,000 \$5,000,001 and over Totals Locality Name: City of Lexingto Gross Receipts	\$9,327 \$23,028 N/A \$47,693 n Current Revenue	6 5 N/A 119 No. of Licenses	\$500.00 \$1,000.00 \$2,500.00 Flat Rate	\$3,000 \$5,000 N/A \$11,625 Proposed Revenue
\$1,000,001 - \$5,000,000 \$5,000,001 and over Totals Locality Name: City of Lexingto Gross Receipts \$0 - \$100,000	\$9,327 \$23,028 N/A \$47,693 n Current Revenue \$30,845	6 5 N/A 119 No. of Licenses 483	\$500.00 \$1,000.00 \$2,500.00 Flat Rate \$25.00	\$3,000 \$5,000 N/A \$11,625 Proposed Revenue \$12,075 \$4,250
\$1,000,001 - \$5,000,000 \$5,000,001 and over Totals Locality Name: City of Lexingto Gross Receipts \$0 - \$100,000 \$100,001 - \$250,000	\$9,327 \$23,028 N/A \$47,693 n Current Revenue \$30,845 \$42,779 \$52,260	6 5 N/A 119 No. of Licenses 483 85	\$500.00 \$1,000.00 \$2,500.00 Flat Rate \$25.00 \$50.00 \$150.00	\$3,000 \$5,000 N/A \$11,625 Proposed Revenue \$12,075 \$4,250 \$6,600
\$1,000,001 - \$5,000,000 \$5,000,001 and over Totals Locality Name: City of Lexingto Gross Receipts \$0 - \$100,000 \$100,001 - \$250,000 \$250,001 - \$500,000	\$9,327 \$23,028 N/A \$47,693 n Current Revenue \$30,845 \$42,779 \$52,260 \$79,246	6 5 N/A 119 No. of Licenses 483 85	\$500.00 \$1,000.00 \$2,500.00 Flat Rate \$25.00 \$50.00 \$150.00	\$3,000 \$5,000 N/A \$11,625 Proposed Revenue \$12,075 \$4,250 \$6,600 \$15,500
\$1,000,001 - \$5,000,000 \$5,000,001 and over Totals Locality Name: City of Lexingto Gross Receipts \$0 - \$100,000 \$100,001 - \$250,000 \$250,001 - \$500,000 \$1,000,001 - \$5,000,000	\$9,327 \$23,028 N/A \$47,693 n Current Revenue \$30,845 \$42,779 \$52,260	No. of Licenses 483 85 44 31 27	\$500.00 \$1,000.00 \$2,500.00 Flat Rate \$25.00 \$50.00 \$150.00 \$1,000.00	\$3,000 \$5,000 N/A \$11,625 Proposed Revenue \$12,075 \$4,250 \$6,600 \$15,500 \$27,000
\$1,000,001 - \$5,000,000 \$5,000,001 and over Totals Locality Name: City of Lexingto Gross Receipts \$0 - \$100,000 \$100,001 - \$250,000 \$250,001 - \$500,000 \$500,001 - \$1,000,000	\$9,327 \$23,028 N/A \$47,693 n Current Revenue \$30,845 \$42,779 \$52,260 \$79,246 \$154,453	No. of Licenses 483 85 444	\$500.00 \$1,000.00 \$2,500.00 Flat Rate \$25.00 \$50.00 \$150.00	\$3,000 \$5,000 N/A \$11,625 Proposed Revenue \$12,075 \$4,250 \$6,600 \$15,500 \$27,000 \$5,000
\$1,000,001 - \$5,000,000 \$5,000,001 and over Totals Locality Name: City of Lexingto Gross Receipts \$0 - \$100,000 \$100,001 - \$250,000 \$250,001 - \$500,000 \$1,000,001 - \$5,000,000 \$5,000,001 and over	\$9,327 \$23,028 N/A \$47,693 n Current Revenue \$30,845 \$42,779 \$52,260 \$79,246 \$154,453 \$35,076	No. of Licenses 483 85 44 31 27	\$500.00 \$1,000.00 \$2,500.00 Flat Rate \$25.00 \$50.00 \$150.00 \$1,000.00	\$3,000 \$5,000 N/A \$11,625 Proposed Revenue \$12,075 \$4,250 \$6,600 \$15,500 \$27,000 \$5,000
\$1,000,001 - \$5,000,000 \$5,000,001 and over Totals Locality Name: City of Lexingto Gross Receipts \$0 - \$100,000 \$100,001 - \$250,000 \$250,001 - \$500,000 \$1,000,001 - \$5,000,000 \$5,000,001 and over	\$9,327 \$23,028 N/A \$47,693 n Current Revenue \$30,845 \$42,779 \$52,260 \$79,246 \$154,453 \$35,076	6 5 N/A 119 No. of Licenses 483 85 44 31 27 2 672	\$500.00 \$1,000.00 \$2,500.00 Flat Rate \$25.00 \$50.00 \$150.00 \$1,000.00	\$3,000 \$5,000 N/A \$11,625 Proposed Revenue \$12,075 \$4,250 \$6,600 \$15,500 \$27,000 \$5,000
\$1,000,001 - \$5,000,000 \$5,000,001 and over Totals Locality Name: City of Lexingto Gross Receipts \$0 - \$100,000 \$100,001 - \$250,000 \$250,001 - \$500,000 \$500,001 - \$1,000,000 \$1,000,001 - \$5,000,000 \$5,000,001 and over Totals	\$9,327 \$23,028 N/A \$47,693 n Current Revenue \$30,845 \$42,779 \$52,260 \$79,246 \$154,453 \$35,076	No. of Licenses 483 85 44 31 27	\$500.00 \$1,000.00 \$2,500.00 Flat Rate \$25.00 \$50.00 \$150.00 \$1,000.00	\$3,000 \$5,000 N/A \$11,625 Proposed Revenue \$12,075 \$4,250 \$6,600 \$15,500 \$27,000 \$5,000
\$1,000,001 - \$5,000,000 \$5,000,001 and over Totals Locality Name: City of Lexingto Gross Receipts \$0 - \$100,000 \$100,001 - \$250,000 \$250,001 - \$500,000 \$500,001 - \$1,000,000 \$1,000,001 - \$5,000,000 \$5,000,001 and over Totals Locality Name: New Kent County Gross Receipts \$0 - \$100,000	\$9,327 \$23,028 N/A \$47,693 n Current Revenue \$30,845 \$42,779 \$52,260 \$79,246 \$154,453 \$35,076 \$394,658	6 5 N/A 119 No. of Licenses 483 85 44 31 27 2 672	\$500.00 \$1,000.00 \$2,500.00 Flat Rate \$25.00 \$50.00 \$150.00 \$1,000.00 \$2,500.00	\$3,000 \$5,000 N/A \$11,625 Proposed Revenue \$12,075 \$4,250 \$6,600 \$15,500 \$27,000 \$5,000 \$70,425
\$1,000,001 - \$5,000,000 \$5,000,001 and over Totals Locality Name: City of Lexingto Gross Receipts \$0 - \$100,000 \$100,001 - \$250,000 \$250,001 - \$5,000,000 \$500,001 - \$1,000,000 \$1,000,001 - \$5,000,000 \$5,000,001 and over Totals Locality Name: New Kent County Gross Receipts \$0 - \$100,000 \$100,001 - \$250,000	\$9,327 \$23,028 N/A \$47,693 n Current Revenue \$30,845 \$42,779 \$52,260 \$79,246 \$154,453 \$35,076 \$394,658	6 5 N/A 119 No. of Licenses 483 85 44 31 27 2 672 No. of Licenses	\$500.00 \$1,000.00 \$2,500.00 Flat Rate \$25.00 \$50.00 \$150.00 \$1,000.00 \$2,500.00	\$3,000 \$5,000 N/A \$11,625 Proposed Revenue \$12,075 \$4,250 \$6,600 \$15,500 \$27,000 \$5,000
\$1,000,001 - \$5,000,000 \$5,000,001 and over Totals Locality Name: City of Lexingto Gross Receipts \$0 - \$100,000 \$100,001 - \$250,000 \$250,001 - \$500,000 \$500,001 - \$1,000,000 \$1,000,001 - \$5,000,000 \$5,000,001 and over Totals Locality Name: New Kent County Gross Receipts \$0 - \$100,000	\$9,327 \$23,028 N/A \$47,693 n Current Revenue \$30,845 \$42,779 \$52,260 \$79,246 \$154,453 \$35,076 \$394,658 Current Revenue \$53,926	6 5 N/A 119 No. of Licenses 483 85 44 31 27 2 672 No. of Licenses 783	\$500.00 \$1,000.00 \$2,500.00 Flat Rate \$25.00 \$50.00 \$1,000.00 \$2,500.00 Flat Rate \$25.00	\$3,000 \$5,000 N/A \$11,625 Proposed Revenue \$12,075 \$4,250 \$6,600 \$15,500 \$27,000 \$5,000 \$70,425 Proposed Revenue \$19,575

\$1,000,001 - \$5,000,000	\$119,632	28	\$1,000.00	\$28,000
\$5,000,001 and over	\$204,033	8		\$20,000
Totals	\$535,690	1074	Ψ=,000100	\$102,525
Locality Name: Buena Vista				
Gross Receipts	Current Revenue	No. of Licenses		Proposed Revenue
\$0 - \$100,000	\$17,847	178	\$25.00	\$4,450
\$100,001 - \$250,000	\$10,569	26		
\$250,001 - \$500,000	\$16,084	19		\$2,850
\$500,001 - \$1,000,000	\$25,995	14	\$500.00	\$7,000
\$1,000,001 - \$5,000,000	\$62,282	14	\$1,000.00	\$14,000
\$5,000,001 and over	\$30,880	2	\$2,500.00	
Totals	\$163,657	253		\$34,600
Locality Name: CITY OF COVING	TON		ı	
Locality Name: CITY OF COVING Gross Receipts	Current Revenue	No. of Licenses	Flat Rate	Proposed Revenue
\$0 - \$100,000	\$25,465	300		\$7,500
\$100,001 - \$250,000	\$36,322	81	\$50.00	
\$250,001 - \$500,000	\$45,445	49	\$150.00	-
\$500,001 - \$1,000,000	\$55,910	32	\$500.00	\$16,000
\$1,000,001 - \$5,000,000	\$118,156	35		\$35,000
\$5,000,001 and over	\$147,364	6		\$15,000 \$15,000
Totals	\$428,661	503	Ψ2,500.00	\$84,900
Totals	ψ+20,001	303		φ0+,500
Locality Name: Town of Clifton Fe	orge			
	Current Revenue	No. of Licenses	Flat Rate	Proposed Revenue
\$0 - \$100,000	\$8,636	117	\$25.00	\$2,925
\$100,001 - \$250,000	\$8,306	19	\$50.00	\$950
\$250,001 - \$500,000	\$13,242	11	\$150.00	\$1,650
\$500,001 - \$1,000,000	\$27,015	13	\$500.00	\$6,500
\$1,000,001 - \$5,000,000	\$46,319	8	\$1,000.00	\$8,000
\$5,000,001 and over	\$14,542	1	\$2,500.00	\$2,500
Totals	\$118,060	169		\$22,525
Landita Nama TOWALOF IDON	> A T.C.		l	
Locality Name:TOWN OF IRON (Current Revenue	No. of Licenses	Elat Data	Proposed Revenue
\$0 - \$100,000	\$447	10. 01 Licenses		
\$100,001 - \$250,000	Ψ++1	10	\$50.00	ΨΖΟΟ
\$250,001 - \$250,000			\$150.00	
\$500,001 - \$300,000	\$704	1	\$500.00	\$500
\$1,000,001 - \$1,000,000	Ψ104	<u> </u>	\$1,000.00	ψου
\$5,000,001 and over			\$2,500.00	
Totals	\$1,151	11	Ψ2,300.00	\$750
	, , ,			
Locality Name:ALLEGHANY CO	_			
Gross Receipts	Current Revenue	No. of Licenses		Proposed Revenue
\$0 - \$100,000	\$14,803	342	\$25.00	
\$100,001 - \$250,000	\$11,651	50	\$50.00	\$2,500
\$250,001 - \$500,000	\$19,515	46	·	\$6,900
\$500,001 - \$1,000,000	\$21,579	24		\$12,000
\$1,000,001 - \$5,000,000	\$67,808	31	\$1,000.00	\$31,000
\$5,000,001 and over	\$152,323	6	\$2,500.00	\$15,000

Totals	\$287,679	499		\$75,950
Locality Name:TOWN OF URBAN	JNA			
Gross Receipts	Current Revenue	No. of Licenses	Flat Rate	Proposed Revenue
\$0 - \$100,000	\$2,550	85	\$25.00	
\$100,001 - \$250,000	Ψ2,000		\$50.00	
\$250,001 - \$500,000			\$150.00	
\$500,001 - \$1,000,000			\$500.00	
\$1,000,001 - \$5,000,000			\$1,000.00	
\$5,000,001 and over			\$2,500.00	
Totals	\$2,550	85	\$2,000.00	\$2,125
Locality Name: CAMPBELL COUN				
Gross Receipts		No. of Licenses		Proposed Revenue
\$0 - \$100,000	\$58,335	454	\$25.00	·
\$100,001 - \$250,000	\$76,036	183	\$50.00	
\$250,001 - \$500,000	\$71,487	77	\$150.00	
\$500,001 - \$1,000,000	\$140,769	70	35000	
\$1,000,001 - \$5,000,000	\$269,847	52	\$1,000.00	
\$5,000,001 and over	\$505,780	7	\$2,500.00	\$17,500
Totals	\$1,122,254	843		\$136,550
Locality Name: CITY OF LYNCHE				
Gross Receipts		No. of Licenses		Proposed Revenue
\$0 - \$100,000	\$64,581	2161	\$25.00	\$54,025
\$100,001 - \$250,000	\$258,960	513	\$50.00	
\$250,001 - \$500,000	\$422,195	348	\$150.00	
\$500,001 - \$1,000,000	\$670,441	335	\$500.00	\$167,500
\$1,000,001 - \$5,000,000	\$2,033,737	340	\$1,000.00	
\$5,000,001 and over	\$2,485,711	81	\$2,500.00	\$202,500
Totals	\$5,935,625	3778		\$841,875
TOWN OF A	TA) (10TA			
Locality Name: TOWN OF AI		N. 61.	El (D (D 10
Gross Receipts		No. of Licenses		Proposed Revenue
\$0 - \$100,000	\$28,142	162	\$25.00	
\$100,001 - \$250,000	\$9,600	37	\$50.00	
\$250,001 - \$500,000	\$17,802	35	\$150.00	
\$500,001 - \$1,000,000	\$19,398	21	\$500.00	\$10,500
\$1,000,001 - \$5,000,000	\$35,377	13	\$1,000.00	
\$5,000,001 and over	\$46,375	3	\$2,500.00	\$7,500
Totals	\$156,693	271		\$42,150
Locality Name: Chesapeake, Virg	inia			
Gross Receipts	Current Revenue	No. of Licenses	Flat Rate	Proposed Revenue
\$0 - \$100,000	\$575,328	8,078	\$25.00	\$201,950
\$100,001 - \$250,000	\$728,608	1,607	\$50.00	
\$250,001 - \$500,000	\$1,042,051	1,037	\$150.00	\$155,550
\$500,001 - \$1,000,000	\$1,535,343	849	\$500.00	
\$1,000,001 - \$5,000,000	\$4,289,197	865	\$1,000.00	
\$5,000,001 and over	\$8,370,295	246	\$2,500.00	
Totals	\$16,540,822	12,682	. ,	\$2,342,350

Locality Name: City of Charlottesville Current Revenue No. of Licenses Flat Rate Proposed Revenue Cross Receipts Current Revenue No. of Licenses Flat Rate Proposed Revenue Cross Receipts Current Revenue No. of Licenses Flat Rate Proposed Revenue Cross Receipts Current Revenue No. of Licenses Flat Rate Proposed Revenue Cross Receipts Current Revenue No. of Licenses Flat Rate Proposed Revenue Cross Receipts Current Revenue No. of Licenses Flat Rate Proposed Revenue Cross Receipts Current Revenue No. of Licenses Flat Rate Proposed Revenue Cross Receipts Current Revenue No. of Licenses Flat Rate Proposed Revenue Cross Receipts Current Revenue No. of Licenses Flat Rate Proposed Revenue Cross Receipts Current Revenue No. of Licenses Flat Rate Proposed Revenue Cross Receipts Current Revenue No. of Licenses Flat Rate Proposed Revenue Cross Receipts Current Revenue No. of Licenses Flat Rate Proposed Revenue Cross Receipts Current Revenue No. of Licenses Flat Rate Proposed Revenue Cross Receipts Current Revenue No. of Licenses Flat Rate Proposed Revenue Cross Receipts Current Revenue No. of Licenses Flat Rate Proposed Revenue Cross Receipts Current Revenue No. of Licenses Flat Rate Proposed Revenue Cross Receipts Current Revenue No. of Licenses Flat Rate Proposed Revenue Cross Receipts Current Revenue No. of Licenses Flat Rate Proposed Revenue Cross Receipts Current Revenue No. of Licenses Flat Rate Proposed Revenue Cross Receipts Current Revenue No. of Licenses Flat Rate Proposed Revenue Cross Receipts Current Revenue No. of Licenses Current Revenue No. of Licenses Current Revenue No. of Licenses Flat Rate Proposed Revenue Cross Receipts Current Revenue No. of Licenses Flat Rate Proposed Revenue Cross Receipts Current Revenue No. of Licenses Flat Rate Proposed Revenue Cross Receipts	Locality Names City of Charlettee	villa			
0-100,000			Nia aflianna	Flat Data	Duanas ad Davison
100,001-250,000					
250,001-500,000	,	·			
S00,001-1,000,000					
1,000,001-5,000,000		-			
Second S					
Totals					
Locality Name: LOUDOUN COUNTY				φ 2,500.00	
Gross Receipts	Totals	\$5,991,09Z	3,605		φ052,200
Gross Receipts	Locality Namo: LOUDOUN COUN	JTV		ı	
\$0 - \$100,000			No of Licenses	Flat Rate	Proposed Revenue
\$100,001 - \$250,000 \$124,012 1518 \$50.00 \$75,900 \$250,001 - \$500,000 \$422,289 775 \$150.00 \$116,250 \$500,001 - \$51,000,000 \$742,711 690 \$500.00 \$345,000 \$110,000 \$140,000 \$74,711 690 \$500.00 \$345,000 \$1,000,001 - \$5,000,000 \$2,586,715 883 \$1,000.00 \$883,000 \$5,000,001 and over \$7,281,849 288 \$2,500.00 \$720,000 Totals \$11,295,939 9124 \$1,037,628 \$1,000,001 \$100,000 \$111,572 2.093 \$25.00 \$52,325 \$100,001 - \$250,000 \$111,572 2.093 \$25.00 \$52,325 \$100,001 - \$250,000 \$316,331 617 \$50.00 \$30,850 \$250,001 - \$500,000 \$450,259 416 \$150.00 \$62,400 \$500,001 - \$1,000,000 \$565,886 292 \$500.00 \$146,000 \$1,000,001 - \$5,000,000 \$1,699,142 366 \$1,000.00 \$366,000 \$1,000,001 - \$5,000,000 \$2,294,555 93 \$2,500.00 \$32,500 \$2,294,555 \$36 \$0 - \$100,000 \$263,363 \$13342 \$25.00 \$333,550 \$100,001 - \$5,000,000 \$1,234,4969 \$1255 \$150.00 \$188,250 \$500,001 - \$1,000,000 \$1,234,4969 \$1255 \$150.00 \$188,250 \$500,001 - \$5,000,000 \$1,234,4969 \$1255 \$150.00 \$188,250 \$500,001 - \$5,000,000 \$1,234,4969 \$1255 \$150.00 \$188,250 \$500,001 - \$5,000,000 \$1,234,4969 \$1255 \$150.00 \$188,250 \$500,001 - \$5,000,000 \$1,234,4969 \$1255 \$150.00 \$188,250 \$500,001 - \$5,000,000 \$1,234,4969 \$1255 \$150.00 \$188,250 \$500,001 - \$5,000,000 \$1,234,4969 \$1255 \$150.00 \$188,250 \$500,001 - \$5,000,000 \$1,234,4969 \$1255 \$150.00 \$188,250 \$500,001 - \$5,000,000 \$1,234,4969 \$1255 \$150.00 \$188,250 \$500,001 - \$5,000,000 \$1,234,4969 \$1255 \$150.00 \$188,250 \$500,001 - \$5,000,000 \$1,234,4969 \$1255 \$150.00 \$188,250 \$500,001 - \$5,000,000 \$1,234,4969 \$1255 \$150.00 \$188,250 \$500,001 - \$5,000,000 \$1,234,4969 \$1255 \$150.00 \$188,250 \$500,001 - \$5,000,000 \$1,234,4969 \$1255 \$150.00 \$188,250 \$500,001 - \$5,000,000 \$1,234,4969 \$1255 \$150.00 \$188,250 \$500,001 \$1,200,000 \$1,					
\$250,001 - \$500,000 \$422,289 775 \$150.00 \$116,250 \$500,001 - \$1,000,000 \$742,711 690 \$500.00 \$345,000 \$1,000,001 - \$5,000,000 \$2,586,715 883 \$1,000.00 \$838,000 \$5,000,001 and over \$7,281,849 288 \$2,500.00 \$720,000 Totals \$11,295,939 9124 \$1,037,628 \$10,001 - \$250,000 \$111,572 2,033 \$25.00 \$52,325 \$100,001 - \$250,000 \$111,572 2,093 \$25.00 \$52,325 \$100,001 - \$250,000 \$111,572 2,093 \$25.00 \$52,325 \$100,001 - \$250,000 \$450,259 416 \$150.00 \$62,400 \$500,001 - \$1,000,000 \$1,839,142 366 \$1,000.00 \$36,000 \$1,000,001 - \$5,000,000 \$1,899,142 366 \$1,000.00 \$366,000 \$55,000,001 and over \$2,294,555 93 \$2,500.00 \$232,500 Totals \$5,437,745 3,877 \$890,075 \$100,001 - \$500,000 \$1,234,969 1255 \$100,001 - \$250,000 \$1,234,969 1255 \$150.00 \$101,250 \$250,001 - \$100,000 \$81,395,100 \$1,395,107 1036 \$500,001 - \$100,000 \$36,365 \$100,001 - \$500,000 \$1,234,969 1255 \$150.00 \$110,250 \$250,001 \$10,000 \$36,378 \$100,001 - \$500,000 \$31,395,100 \$32,500 \$333,550 \$100,001 - \$500,000 \$31,395,100 \$32,500 \$333,550 \$350,001 - \$100,000 \$363,363 \$13342 \$25.00 \$333,550 \$350,001 - \$100,000 \$363,785 \$100,001 - \$500,000 \$31,300,000 \$363,785 \$136,000 \$31,300,000 \$31,300,001 \$360,000 \$31,300,001 \$360,000 \$31,300,001 \$360,000 \$31,300,000 \$31,300,001 \$360,000 \$31,300,001 \$360,000 \$31,300,001 \$360,000 \$36					
\$500,001 - \$1,000,000 \$742,711 690 \$500.00 \$345,000 \$1,000,001 - \$5,000,000 \$2,586,715 883 \$1,000.00 \$883,000 \$720,000 \$1,000,001 and over \$7,281,849 288 \$2,500.00 \$720,000 \$1,000,001 and over \$7,281,849 288 \$2,500.00 \$720,000 \$1,250 \$1,000,001 and over \$7,281,849 288 \$2,500.00 \$720,000 \$111,250 \$11,295,939 \$124 \$1,037,628 \$100,001 \$2,500,000 \$111,572 \$2,093 \$25.00 \$52,325 \$100,001 \$500,000 \$111,572 \$2,093 \$25.00 \$52,325 \$100,001 \$500,000 \$450,259 416 \$150.00 \$62,400 \$550,001 \$1,000,000 \$450,259 416 \$150.00 \$62,400 \$500,001 \$1,000,000 \$565,886 \$292 \$500.00 \$146,000 \$1,000,001 \$5,000,000 \$1,699,142 366 \$1,000.00 \$366,000 \$5,000,001 and over \$2,294,555 93 \$2,500.00 \$323,500 \$232,500 \$232,500 \$232,500 \$232,500 \$232,500 \$232,500 \$232,500 \$232,500 \$232,500 \$232,500 \$232,500 \$232,500 \$333,331 \$342 \$25.00 \$333,500 \$232,500 \$346,000 \$360,000 \$36	· · · · · · · · · · · · · · · · · · ·				
\$1,000,001 - \$5,000,000					
\$5,000,001 and over Totals \$11,295,939 9124 \$2,500.00 \$720,000		-			
Totals					
Locality Name: County of Albemarle Gross Receipts Current Revenue No. of Licenses Flat Rate Proposed Revenue \$0 - \$100,000 \$111,572 2,093 \$25.00 \$52,325 \$100,001 - \$250,000 \$316,331 617 \$50.00 \$30,850 \$250,001 - \$500,000 \$450,259 416 \$150.00 \$62,400 \$500,001 - \$1,000,000 \$565,886 292 \$500.00 \$146,000 \$1,000,001 - \$5,000,000 \$1,699,142 366 \$1,000.00 \$366,000 \$5,000,001 35,000,001 35,000,001 35,437,745 3,877 \$890,075 \$890,075 \$100,001 \$263,363 13342 \$25.00 \$333,550 \$100,001 - \$250,000 \$1,234,969 1255 \$150.00 \$188,250 \$500,001 - \$1,000,000 \$1,234,969 1255 \$150.00 \$188,250 \$500,001 - \$1,000,000 \$2,30,78,788 1316 \$1,000.00 \$1,316,000 \$1,000,001 - \$5,000,000 \$230,02839 480 \$2,500.00 \$1,316,000 \$35,474,798 19,454 \$3,657,050 \$150.00 \$750 \$150,001 - \$10,000 \$1,290 41 \$25.00 \$1,005 \$150,000 \$1,005 \$10,000 \$1,00				Ψ2,300.00	
Gross Receipts	Totals	Ψ11,200,000	J124		ψ1,007,020
Gross Receipts	Locality Name: County of Albema	arle			
\$0 - \$100,000 \$111,572 2,093 \$25.00 \$52,325 \$100,001 - \$250,000 \$316,331 617 \$50.00 \$30,850 \$250,001 - \$500,000 \$450,259 416 \$150.00 \$62,400 \$500,001 - \$1,000,000 \$565,886 292 \$500.00 \$146,000 \$1,000,001 - \$5,000,000 \$1,699,142 366 \$1,000.00 \$366,000 \$5,000,001 and over \$2,294,555 93 \$2,500.00 \$232,500 Totals \$5,437,745 3,877 \$8890,075 \$			No of Licenses	Flat Rate	Proposed Revenue
\$100,001 - \$250,000 \$316,331 617 \$50.00 \$30,850 \$250,001 - \$500,000 \$450,259 416 \$150.00 \$62,400 \$500,001 - \$1,000,000 \$1,699,142 366 \$1,000.00 \$366,000 \$5,000,001 and over \$2,294,555 93 \$2,500.00 \$232,500 \$232,500 \$336,500 \$5,000,001 and over \$2,294,555 93 \$2,500.00 \$232,500 \$232,500 \$360,000 \$0.000 \$0.000 \$0.000 \$1,000,000 \$1,000,000 \$2,000,000 \$1,000,000 \$2,000,000 \$1,000,000 \$2,000,000 \$1,000,000 \$2,000,000 \$1,000,000 \$2,000,000 \$1,000,000 \$2,000,000 \$1,000,000 \$2,000,000 \$1,					
\$250,001 - \$500,000 \$450,259 416 \$150.00 \$62,400 \$500,001 - \$1,000,000 \$565,886 292 \$500.00 \$146,000 \$1,000,001 - \$5,000,000 \$1,699,142 366 \$1,000.00 \$232,500 \$2,500,001 and over \$2,294,555 93 \$2,500.00 \$232,500 \$2,500,001 and over \$5,437,745 3,877 \$8890,075 \$250,001 \$250,000 \$233,500 \$2,500,001 \$250,000 \$233,500 \$2,500,001 \$250,000 \$233,500 \$2,500,001 \$250,000					
\$500,001 - \$1,000,000 \$565,886 292 \$500.00 \$146,000 \$1,000,001 - \$5,000,000 \$1,699,142 366 \$1,000.00 \$366,000 \$5,000,001 and over \$2,294,555 93 \$2,500.00 \$232,500 Totals \$5,437,745 3,877 \$8890,075 \$200,001 and over \$2,294,555 \$100,001 \$200,000 \$232,500 \$200,000 \$2					
\$1,000,001 - \$5,000,000 \$1,699,142 366 \$1,000.00 \$366,000 \$5,000,001 and over \$2,294,555 93 \$2,500.00 \$232,500 Totals \$5,437,745 3,877 \$8890,075 \$200,000 \$100,000 \$263,363 \$13342 \$25.00 \$333,550 \$100,001 - \$250,000 \$1,234,969 \$1255 \$150.00 \$188,250 \$1,000,001 - \$5,000,000 \$1,955,107 \$1036 \$50,000 \$1,316,000 \$1,000,001 - \$5,000,000 \$230,000 \$1,000,001 - \$1,000,000 \$1,000,001 - \$1,000,000 \$1,000,001 - \$1,000,000 \$1,000,001 - \$1,000,000 \$1,000,001 - \$1,000,000 \$1,000,001 - \$1,000,000 \$1,000,001 - \$1,000,000 \$1,000,001 - \$1,000,000 \$1,000,001 - \$1,000,000 \$1,000,001 - \$1,000,000 \$1,000,001 - \$1,000,000 \$1,000,001 - \$1,000,000 \$1,000,001 - \$1,000,000 \$1,000,001 - \$1,000,000 \$1,000,001 - \$1,000,000 \$1,000,000 \$1,000,001 - \$1,000,000 \$1,000,000 \$1,000,001 - \$1,000,000 \$1,000,000 \$1,000,001 - \$1,000,000 \$1,000,					
\$5,000,001 and over Totals \$5,437,745 \$3,877 \$890,075 \$893,762 \$99					
Totals					
Locality Name: ARLINGTON				\$2,000.00	
Gross Receipts		+ - , ,	,,,,,		, , , , ,
Gross Receipts	Locality Name: ARLINGTON				
\$0 - \$100,000 \$263,363 13342 \$25.00 \$333,550 \$100,001 - \$250,000 \$939,762 2025 \$50.00 \$101,250 \$250,001 - \$500,000 \$1,234,969 1255 \$150.00 \$188,250 \$500,001 - \$1,000,000 \$1,955,107 1036 \$500.00 \$518,000 \$1,000,001 - \$5,000,000 \$8,078,758 1316 \$1,000.00 \$1,316,000 \$5,000,001 and over \$23,002,839 480 \$2,500.00 \$1,200,000 \$35,474,798 19,454 \$3,657,050 \$35,474,798 19,454 \$3,657,050 \$1,200,000 \$1,2		Current Revenue	No. of Licenses	Flat Rate	Proposed Revenue
\$100,001 - \$250,000 \$939,762 2025 \$50.00 \$101,250 \$250,001 - \$500,000 \$1,234,969 1255 \$150.00 \$188,250 \$500,001 - \$1,000,000 \$1,955,107 1036 \$500.00 \$518,000 \$1,000,001 - \$5,000,000 \$8,078,758 1316 \$1,000.00 \$1,316,000 \$5,000,001 and over \$23,002,839 480 \$2,500.00 \$1,200,000 \$35,474,798 19,454 \$3,657,050 \$250,001 - \$1,000,000 \$1,290 41 \$25.00 \$1,002 \$1,005					
\$250,001 - \$500,000 \$1,234,969 1255 \$150.00 \$188,250 \$500,001 - \$1,000,000 \$1,955,107 1036 \$500.00 \$518,000 \$1,000,001 - \$5,000,000 \$8,078,758 1316 \$1,000.00 \$1,316,000 \$5,000,001 and over \$23,002,839 480 \$2,500.00 \$1,200,000 \$35,474,798 19,454 \$3,657,050 \$250,000 \$1,200,000 \$1,000,001 - \$250,000 \$1,004 15 \$250,000 \$750 \$250,001 - \$500,000 \$1,004 15 \$500,000 \$750 \$250,001 - \$500,000 \$1,000,001 - \$1,000,000 \$1,000,001 - \$1,000,000 \$1,000,001 - \$1,000,000 \$6,935 \$6 \$1,000,000 \$6,000 \$1,000,001 and over \$6,143 3 \$2,500.00 \$7,500 \$10,000,001 and over \$6,143 3 \$2,500.00 \$7,500 \$10,0			2025		
\$500,001 - \$1,000,000		\$1,234,969	1255	\$150.00	\$188,250
\$1,000,001 - \$5,000,000 \$8,078,758 1316 \$1,000.00 \$1,316,000 \$5,000,001 and over \$23,002,839 480 \$2,500.00 \$1,200,000 \$35,474,798 19,454 \$3,657,050 \$35,474,798 19,454 \$3,657,050 \$1,000,000 \$3,000,000 \$1,200,000 \$3,657,050 \$1,000,000 \$1,200,000 \$1,200,000 \$1,200,000 \$1,200,000 \$1,200 \$1,200 \$1,000,000 \$1,200 \$1,000,000 \$1,000 \$1,000,000 \$1,000 \$1,000,	\$500,001 - \$1,000,000		1036	\$500.00	
\$5,000,001 and over \$23,002,839 480 \$2,500.00 \$1,200,000 \$35,474,798 19,454 \$3,657,050 \$3,657,050 \$250,000 \$1,200,000 \$1,000 \$1,000,001 \$1,000,001 \$1,000,001 \$1,000,001 \$1,000,001 \$1,000,001 \$1,000,001 \$1,000,001 \$1,000,001 \$1,000,001 \$1,000,001 \$1,000,001 \$1,000,001 \$1,000,000 \$1,000,					
Locality Name: TOWN OF KEYSVILLE Gross Receipts Current Revenue No. of Licenses Flat Rate Proposed Revenue \$0 - \$100,000 \$1,290 41 \$25.00 \$1,025 \$100,001 - \$250,000 \$1,004 15 \$50.00 \$750 \$250,001 - \$500,000 \$877 5 \$150.00 \$750 \$500,001 - \$1,000,000 \$1,033 3 \$500.00 \$1,500 \$1,000,001 - \$5,000,000 \$6,935 6 \$1,000.00 \$6,000 \$5,000,001 and over \$6,143 3 \$2,500.00 \$7,500 Totals \$17,282 73 \$16,625 Locality Name: TOWN CHARLOTTE COURTHOUSE	\$5,000,001 and over			\$2,500.00	\$1,200,000
Gross Receipts Current Revenue No. of Licenses Flat Rate Proposed Revenue \$0 - \$100,000 \$1,290 41 \$25.00 \$1,025 \$100,001 - \$250,000 \$1,004 15 \$50.00 \$750 \$250,001 - \$500,000 \$877 5 \$150.00 \$750 \$500,001 - \$1,000,000 \$1,033 3 \$500.00 \$1,500 \$1,000,001 - \$5,000,000 \$6,935 6 \$1,000.00 \$6,000 \$5,000,001 and over \$6,143 3 \$2,500.00 \$7,500 Totals \$17,282 73 \$16,625		\$35,474,798	19,454		\$3,657,050
Gross Receipts Current Revenue No. of Licenses Flat Rate Proposed Revenue \$0 - \$100,000 \$1,290 41 \$25.00 \$1,025 \$100,001 - \$250,000 \$1,004 15 \$50.00 \$750 \$250,001 - \$500,000 \$877 5 \$150.00 \$750 \$500,001 - \$1,000,000 \$1,033 3 \$500.00 \$1,500 \$1,000,001 - \$5,000,000 \$6,935 6 \$1,000.00 \$6,000 \$5,000,001 and over \$6,143 3 \$2,500.00 \$7,500 Totals \$17,282 73 \$16,625					
Gross Receipts Current Revenue No. of Licenses Flat Rate Proposed Revenue \$0 - \$100,000 \$1,290 41 \$25.00 \$1,025 \$100,001 - \$250,000 \$1,004 15 \$50.00 \$750 \$250,001 - \$500,000 \$877 5 \$150.00 \$750 \$500,001 - \$1,000,000 \$1,033 3 \$500.00 \$1,500 \$1,000,001 - \$5,000,000 \$6,935 6 \$1,000.00 \$6,000 \$5,000,001 and over \$6,143 3 \$2,500.00 \$7,500 Totals \$17,282 73 \$16,625					
\$100,001 - \$250,000 \$1,004 15 \$50.00 \$750 \$250,001 - \$500,000 \$877 5 \$150.00 \$750 \$500,001 - \$1,000,000 \$1,033 3 \$500.00 \$1,500 \$1,000,001 - \$5,000,000 \$6,935 6 \$1,000.00 \$6,000 \$5,000,001 and over \$6,143 3 \$2,500.00 \$7,500 Totals \$17,282 73 \$16,625	Gross Receipts	Current Revenue	No. of Licenses	Flat Rate	Proposed Revenue
\$250,001 - \$500,000 \$877 5 \$150.00 \$750 \$500,001 - \$1,000,000 \$1,033 3 \$500.00 \$1,500 \$1,000,001 - \$5,000,000 \$6,935 6 \$1,000.00 \$6,000 \$5,000,001 and over \$6,143 3 \$2,500.00 \$7,500 Totals \$17,282 73 \$16,625	\$0 - \$100,000	\$1,290	41	\$25.00	\$1,025
\$500,001 - \$1,000,000 \$1,033 3 \$500.00 \$1,500 \$1,500 \$1,000,001 - \$5,000,000 \$6,935 6 \$1,000.00 \$6,000 \$5,000,001 and over \$6,143 3 \$2,500.00 \$7,500 Totals \$17,282 73 \$16,625 \$100,000 \$1,000	\$100,001 - \$250,000	\$1,004	15	\$50.00	\$750
\$1,000,001 - \$5,000,000 \$6,935 6 \$1,000.00 \$6,000 \$7,500 \$7,500 Totals \$17,282 73 \$16,625 \$100alst Town CHARLOTTE COURTHOUSE	\$250,001 - \$500,000	\$877			\$750
\$5,000,001 and over \$6,143 3 \$2,500.00 \$7,500 Totals \$17,282 73 \$16,625 Locality Name: TOWN CHARLOTTE COURTHOUSE					
Totals \$17,282 73 \$16,625 Locality Name: TOWN CHARLOTTE COURTHOUSE					
Locality Name: TOWN CHARLOTTE COURTHOUSE	i i			\$2,500.00	
	Totals	\$17,282	73		\$16,625
Gross Receipts Current Revenue No. of Licenses Flat Rate Proposed Revenue					
	Gross Receipts	Current Revenue	No. of Licenses	Flat Rate	Proposed Revenue

\$0 - \$100,000	\$720	24	\$25.00	\$600
\$100,001 - \$250,000			\$50.00	
\$250,001 - \$500,000			\$150.00	
\$500,001 - \$1,000,000			\$500.00	
\$1,000,001 - \$5,000,000			\$1,000.00	
\$5,000,001 and over			\$2,500.00	
Totals	\$720	24		\$600
Locality Name: Caroline County				
Gross Receipts	Current Revenue	No. of Licenses	Flat Rate	Proposed Revenue
\$0 - \$100,000	\$40,553	1,112	\$25.00	\$27,800
\$100,001 - \$250,000	\$29,109	123	\$50.00	\$6,150
\$250,001 - \$500,000	\$30,023	56	\$150.00	\$8,400
\$500,001 - \$1,000,000	\$58,558	50	\$500.00	\$25,000
\$1,000,001 - \$5,000,000	\$100,947	32	1,000.00	\$32,000
\$5,000,001 and over	\$203,361	10	\$2,500.00	\$25,000
Totals	\$462,550			\$124,350
Locality Name: TOWN OF BOWL	ING GREEN			
Gross Receipts	Current Revenue	No. of Licenses	Flat Rate	Proposed Revenue
\$0 - \$100,000			\$25.00	
\$100,001 - \$250,000			\$50.00	
\$250,001 - \$500,000	\$57,314	151	\$150.00	\$22,650
\$500,001 - \$1,000,000			\$500.00	
\$1,000,001 - \$5,000,000			1,000.00	
\$5,000,001 and over			\$2,500.00	
Totals	\$57,314	151		\$22,650
Locality Name: TOWN OF PORT	ROYAL			
Gross Receipts	Current Revenue	No. of Licenses	Flat Rate	Proposed Revenue
\$0 - \$100,000	\$5,000		\$25.00	
\$100,001 - \$250,000			\$50.00	
\$250,001 - \$500,000	\$5,000	20	\$150.00	\$3,000
\$500,001 - \$1,000,000			\$500.00	
\$1,000,001 - \$5,000,000			1,000.00	
\$5,000,001 and over			\$2,500.00	
Totals	\$5,000	20		\$3,000
Locality Name: Wise Cour		`		
Gross Receipts	Current Revenue	No. of Licenses	Flat Rate	•
\$0 - \$100,000	\$3,395	35	\$25.00	
\$100,001 - \$250,000	\$6,916	22	\$50.00	· · · · · · · · · · · · · · · · · · ·
\$250,001 - \$500,000	\$5,577	12	\$150.00	\$1,800
\$500,001 - \$1,000,000	\$7,495	8	\$500.00	\$4,000
\$1,000,001 - \$5,000,000	\$20,727	10	\$1,000.00	\$10,000
\$5,000,001 and over			\$2,500.00	
Totals	\$44,110	87		\$17,775
Locality Name: PAGE COUNT				
Gross Receipts	Current Revenue	No. of Licenses	Flat Rate	•
\$0 - \$100,000	\$20,920	565	\$25.00	\$14,125
\$100,001 - \$250,000	\$18,321	87	\$50.00	\$4,350

\$250,001 - \$500,000	\$14,797	38	\$150.00	\$5,700
\$500,001 - \$1,000,000	\$11,356	13	\$500.00	\$6,500
\$1,000,001 - \$5,000,000	\$35,183	9	\$1,000.00	\$9,000
\$5,000,001 and over	\$7,645	1	\$2,500.00	\$2,500
Totals	108,221.95	713	ΨΞ,000.00	\$42,175
	,	•		•, •
Locality Name: YORK COUNTY				
Gross Receipts	Current Revenue	No. of Licenses	Flat Rate	Proposed Revenue
\$0 - \$100,000	\$71,716	2,677	\$25.00	\$66,925
\$100,001 - \$250,000	\$206,711	460	\$50.00	\$23,000
\$250,001 - \$500,000	\$301,656	334	\$150.00	\$50,100
\$500,001 - \$1,000,000	\$399,156	212	\$500.00	\$106,000
\$1,000,001 - \$5,000,000	\$925,854	201	\$1,000.00	\$201,000
\$5,000,001 and over	\$1,237,844	41	\$2,500.00	\$102,500
Totals	\$3,142,937	3,925		\$549,525
Locality Name: PRINCE WILLIAI	M COUNTY			
Gross Receipts		No. of Licenses		Proposed Revenue
\$0 - \$100,000	\$0	2973	\$25.00	\$74,325
\$100,001 - \$250,000	\$321,805	1046	\$50.00	\$52,300
\$250,001 - \$500,000	\$574,917	843	\$150.00	\$126,450
\$500,001 - \$1,000,000	\$972,201	710	\$500.00	\$355,000
\$1,000,001 - \$5,000,000	\$3,343,832	960	\$1,000.00	\$960,000
\$5,000,001 and over	\$7,261,615	255	\$2,500.00	\$637,500
Totals	\$12,474,370	6,787		\$2,205,575
			l	
Locality Name: CITY OF BEDFO				
Gross Receipts		No. of Licenses		Proposed Revenue
\$0 - \$100,000	\$53,587	453	\$25.00	\$11,325
\$100,001 - \$250,000	\$35,738	85	\$50.00	\$4,250
\$250,001 - \$500,000	\$38,178	52	\$150.00	\$7,800
\$500,001 - \$1,000,000	\$49,132	32	\$500.00	\$16,000
\$1,000,001 - \$5,000,000	\$113,187	36	\$1,000.00	\$36,000
\$5,000,001 and over	\$52,823	5	\$2,500.00	\$12,500
Totals	\$342,645	663		\$87,875
Legality Name: CITY OF SALEM				
Locality Name: CITY OF SALEM Gross Receipts	Current Revenue	No. of Licenses	Flat Date	Proposed Revenue
\$0 - \$100,000	\$84,504	857	\$25.00	\$21,425
\$100,001 - \$250,000	\$115,769	250	\$50.00	\$12,500
\$250,001 - \$230,000	\$173,298	170	\$150.00	\$25,500
\$500,001 - \$1,000,000	\$234,065	134	\$500.00	\$67,000
\$1,000,001 - \$5,000,000	\$623,797	131	\$1,000.00	\$131,000
\$5,000,001 and over	\$2,037,903	35	\$2,500.00	\$87,500
Totals	\$3,269,336	1,577	Ψ2,300.00	\$344,925
i otais	ΨΟ,ΣΟΟ,ΟΟΟ	1,011		ΨΟΤΤ, ΟΖΟ
Locality Name: HENRY COUNTY	/			
Gross Receipts	Current Revenue	No. of Licenses	Flat Rate	Proposed Revenue
\$0 - \$100,000	\$68,171	1575	\$25.00	\$39,375
\$100,001 - \$250,000	\$46,463	250		\$12,500
\$250,001 - \$500,000	\$72,036	173	\$150.00	\$25,950
\$500,001 - \$1,000,000	\$135,369	137	\$500.00	\$68,500
	. ,		·	

		-		
\$1,000,001 - \$5,000,000				\$160,000
\$5,000,001 and over		58	\$2,500.00	\$145,000
Totals	\$1,984,973	2,353		\$451,325
Locality Name: CUMBERLAND (
	Current Revenue	No. of Licenses	Flat Rate	Proposed Revenue
\$0 - \$100,000		290	\$25.00	\$7,250
\$100,001 - \$250,000		43	\$50.00	\$2,150
\$250,001 - \$500,000		26	\$150.00	\$3,900
\$500,001 - \$1,000,000		14	\$500.00	\$7,000
\$1,000,001 - \$5,000,000		9	\$1,000.00	\$9,000
\$5,000,001 and over		1	\$2,500.00	\$2,500
Totals	\$47,086	383	+= ,555.55	\$31,800
_ocality Name: TOWN OF VIEN				
Gross Receipts				Proposed Revenue
\$0 - \$100,000			\$25.00	\$21,750
\$100,001 - \$250,000		268	\$50.00	\$13,400
\$250,001 - \$500,000		181	\$150.00	\$27,150
\$500,001 - \$1,000,000	\$219,803	112	\$500.00	\$56,000
\$1,000,001 - \$5,000,000	\$588,091	116	\$1,000.00	\$116,000
\$5,000,001 and over		17	\$2,500.00	\$42,500
Totals	\$1,543,446	1,564		\$276,800
Locality Name:	City of FRANKLIN		 	
Locality Ivallie.	City Of FTANKLIN		PROPOSED RA	TE
GROSS RECEIPTS	Current Revenue	No. of Licenses	Flat Rate	Proposed Revenue
\$0-\$100,000	\$25,270	401	\$ 25.00	\$10,025
\$100,001-\$250,000	\$74,580	96	\$ 50.00	\$4,800
\$250,001-\$500,000	\$72,921	61	\$ 150.00	\$9,150
\$500,001-\$1,000,000	\$83,012	4 -		
\$1,000,001-\$5,000,001		45	\$ 500.00	
	\$220,902	130	\$ 1,000.00	\$130,000
Over \$5,000,001	\$220,902 \$139,228	130 6		\$130,000
Over \$5,000,001	\$220,902	130	\$ 1,000.00	\$130,000 \$15,000
Over \$5,000,001 TOTAL	\$220,902 \$139,228 \$615,913	130 6	\$ 1,000.00	\$130,000 \$15,000
Over \$5,000,001 TOTAL Locality Name: Town of Warrento	\$220,902 \$139,228 \$615,913 on	130 6 739	\$ 1,000.00 \$ 2,500.00	\$130,000 \$15,000 \$191,475
Over \$5,000,001 TOTAL Locality Name: Town of Warrento Gross Receipts	\$220,902 \$139,228 \$615,913 on Current Revenue	130 6 739 No. of Licenses	\$ 1,000.00 \$ 2,500.00 Flat Rate	\$130,000 \$15,000 \$191,475 Proposed Revenue
Over \$5,000,001 FOTAL Locality Name: Town of Warrento Gross Receipts \$0 - \$100,000	\$220,902 \$139,228 \$615,913 on Current Revenue \$20,696	130 6 739 No. of Licenses 304	\$ 1,000.00 \$ 2,500.00 Flat Rate \$25.00	\$130,000 \$15,000 \$191,475 Proposed Revenue \$7,600
Over \$5,000,001 TOTAL _ocality Name: Town of Warrento Gross Receipts \$0 - \$100,000 \$100,001 - \$250,000	\$220,902 \$139,228 \$615,913 on Current Revenue \$20,696 \$43,082	130 6 739 No. of Licenses 304 151	\$ 1,000.00 \$ 2,500.00 Flat Rate \$25.00 \$50.00	\$130,000 \$15,000 \$191,475 Proposed Revenue \$7,600 \$7,550
Over \$5,000,001 TOTAL Locality Name: Town of Warrento Gross Receipts \$0 - \$100,000 \$100,001 - \$250,000 \$250,001 - \$500,000	\$220,902 \$139,228 \$615,913 on Current Revenue \$20,696 \$43,082 \$65,290	130 6 739 No. of Licenses 304 151 105	\$ 1,000.00 \$ 2,500.00 Flat Rate \$25.00 \$50.00 \$150.00	\$130,000 \$15,000 \$191,475 Proposed Revenue \$7,600 \$7,550 \$15,750
Over \$5,000,001 TOTAL Locality Name: Town of Warrento Gross Receipts \$0 - \$100,000 \$100,001 - \$250,000 \$250,001 - \$500,000 \$500,001 - \$1,000,000	\$220,902 \$139,228 \$615,913 on Current Revenue \$20,696 \$43,082 \$65,290 \$117,198	130 6 739 No. of Licenses 304 151 105 88	\$ 1,000.00 \$ 2,500.00 Flat Rate \$25.00 \$50.00 \$150.00	\$130,000 \$15,000 \$191,475 Proposed Revenue \$7,600 \$7,550 \$15,750 \$44,000
Over \$5,000,001 TOTAL Locality Name: Town of Warrento Gross Receipts \$0 - \$100,000 \$100,001 - \$250,000 \$250,001 - \$500,000 \$500,001 - \$1,000,000 \$1,000,001 - \$5,000,000	\$220,902 \$139,228 \$615,913 on Current Revenue \$20,696 \$43,082 \$65,290 \$117,198 \$259,525	130 6 739 No. of Licenses 304 151 105 88	\$ 1,000.00 \$ 2,500.00 Flat Rate \$25.00 \$50.00 \$150.00 \$1,000.00	\$130,000 \$15,000 \$191,475 Proposed Revenue \$7,600 \$7,550 \$15,750 \$44,000 \$86,000
Over \$5,000,001 TOTAL Locality Name: Town of Warrento Gross Receipts \$0 - \$100,000 \$100,001 - \$250,000 \$250,001 - \$500,000 \$500,001 - \$1,000,000	\$220,902 \$139,228 \$615,913 on Current Revenue \$20,696 \$43,082 \$65,290 \$117,198 \$259,525	130 6 739 No. of Licenses 304 151 105 88	\$ 1,000.00 \$ 2,500.00 Flat Rate \$25.00 \$50.00 \$150.00	\$130,000 \$15,000 \$191,475 Proposed Revenue \$7,600 \$7,550 \$15,750 \$44,000 \$86,000 \$45,000
Over \$5,000,001 TOTAL Locality Name: Town of Warrento Gross Receipts \$0 - \$100,000 \$100,001 - \$250,000 \$250,001 - \$500,000 \$500,001 - \$1,000,000 \$1,000,001 - \$5,000,000 \$5,000,001 and over Totals	\$220,902 \$139,228 \$615,913 on Current Revenue \$20,696 \$43,082 \$65,290 \$117,198 \$259,525 \$401,498 \$907,289	130 6 739 No. of Licenses 304 151 105 88 86 18	\$ 1,000.00 \$ 2,500.00 Flat Rate \$25.00 \$50.00 \$150.00 \$1,000.00	\$130,000 \$15,000 \$191,475 Proposed Revenue \$7,600 \$7,550 \$15,750 \$44,000 \$86,000 \$45,000
Over \$5,000,001 TOTAL Locality Name: Town of Warrento Gross Receipts \$0 - \$100,000 \$100,001 - \$250,000 \$250,001 - \$500,000 \$500,001 - \$1,000,000 \$5,000,001 - \$5,000,000 Totals Locality Name: City of Martinsvill	\$220,902 \$139,228 \$615,913 on Current Revenue \$20,696 \$43,082 \$65,290 \$117,198 \$259,525 \$401,498 \$907,289	130 6 739 No. of Licenses 304 151 105 88 86 18 752	\$ 1,000.00 \$ 2,500.00 Flat Rate \$25.00 \$50.00 \$150.00 \$1,000.00 \$2,500.00	\$130,000 \$15,000 \$191,475 Proposed Revenue \$7,600 \$7,550 \$15,750 \$44,000 \$86,000 \$45,000 \$205,900
Over \$5,000,001 TOTAL Locality Name: Town of Warrento Gross Receipts \$0 - \$100,000 \$100,001 - \$250,000 \$250,001 - \$500,000 \$500,001 - \$1,000,000 \$5,000,001 - \$5,000,000 \$5,000,001 and over Totals Locality Name: City of Martinsvill Gross Receipts	\$220,902 \$139,228 \$615,913 on Current Revenue \$20,696 \$43,082 \$65,290 \$117,198 \$259,525 \$401,498 \$907,289 e Current Revenue	130 6 739 No. of Licenses 304 151 105 88 86 18 752 No. of Licenses	\$ 1,000.00 \$ 2,500.00 Flat Rate \$25.00 \$50.00 \$150.00 \$1,000.00 \$2,500.00	\$130,000 \$15,000 \$191,475 Proposed Revenue \$7,600 \$7,550 \$15,750 \$44,000 \$86,000 \$45,000 \$205,900
Over \$5,000,001 TOTAL Locality Name: Town of Warrento Gross Receipts \$0 - \$100,000 \$100,001 - \$250,000 \$250,001 - \$500,000 \$500,001 - \$1,000,000 \$5,000,001 - \$5,000,000 \$5,000,001 and over Totals Locality Name: City of Martinsvill Gross Receipts \$0 - \$100,000	\$220,902 \$139,228 \$615,913 on Current Revenue \$20,696 \$43,082 \$65,290 \$117,198 \$259,525 \$401,498 \$907,289 e Current Revenue \$9,659	130 6 739 No. of Licenses 304 151 105 88 86 18 752 No. of Licenses	\$ 1,000.00 \$ 2,500.00 Flat Rate \$25.00 \$50.00 \$1,000.00 \$2,500.00 Flat Rate \$25.00	\$130,000 \$15,000 \$191,475 Proposed Revenue \$7,600 \$7,550 \$15,750 \$44,000 \$86,000 \$45,000 \$205,900 Proposed Revenue \$2,925
Over \$5,000,001 TOTAL Locality Name: Town of Warrento Gross Receipts \$0 - \$100,000 \$100,001 - \$250,000 \$250,001 - \$500,000 \$500,001 - \$1,000,000 \$5,000,001 and over Totals Locality Name: City of Martinsvill Gross Receipts \$0 - \$100,000 \$100,001 - \$250,000	\$220,902 \$139,228 \$615,913 on Current Revenue \$20,696 \$43,082 \$65,290 \$117,198 \$259,525 \$401,498 \$907,289 e Current Revenue \$9,659 \$14,597	130 6 739 No. of Licenses 304 151 105 88 86 18 752 No. of Licenses 117	\$ 1,000.00 \$ 2,500.00 Flat Rate \$25.00 \$50.00 \$150.00 \$1,000.00 \$2,500.00 Flat Rate \$25.00 \$50.00	\$130,000 \$15,000 \$191,475 Proposed Revenue \$7,600 \$7,550 \$15,750 \$44,000 \$86,000 \$45,000 \$205,900 Proposed Revenue \$2,925 \$4,600
Over \$5,000,001 TOTAL Locality Name: Town of Warrento Gross Receipts \$0 - \$100,000 \$100,001 - \$250,000 \$250,001 - \$500,000 \$500,001 - \$1,000,000 \$5,000,001 and over Totals Locality Name: City of Martinsvill Gross Receipts \$0 - \$100,000	\$220,902 \$139,228 \$615,913 on Current Revenue \$20,696 \$43,082 \$65,290 \$117,198 \$259,525 \$401,498 \$907,289 e Current Revenue \$9,659 \$14,597 \$22,956	130 6 739 No. of Licenses 304 151 105 88 86 18 752 No. of Licenses	\$ 1,000.00 \$ 2,500.00 \$ 2,500.00 Flat Rate \$25.00 \$50.00 \$1,000.00 \$2,500.00 Flat Rate \$25.00 \$50.00 \$150.00	\$22,500 \$130,000 \$15,000 \$191,475 Proposed Revenue \$7,600 \$7,550 \$15,750 \$44,000 \$86,000 \$205,900 Proposed Revenue \$2,925 \$4,600 \$12,450 \$68,000

\$1,000,001 - \$5,000,000	\$726,206	333	\$1,000.00	\$333,000
\$5,000,001 and over	\$969,341	420	\$2,500.00	\$1,050,000
Totals	\$1,746,243	1448	ψ=,000.00	\$1,470,975
Locality Name: Waynesboro City				
Gross Receipts	Current Revenue	No. of Licenses		Proposed Revenue
\$0 - \$100,000	\$62,765	889	\$25.00	\$22,225
\$100,001 - \$250,000	\$82,713	166	\$50.00	\$8,300
\$250,001 - \$500,000	\$124,937	116	\$150.00	\$17,400
\$500,001 - \$1,000,000	\$162,704	73	\$500.00	\$36,500
\$1,000,001 - \$5,000,000	\$363,362	78	\$1,000.00	\$78,000
\$5,000,001 and over	\$413,135	16	\$2,500.00	\$40,000
Totals	\$1,209,616	1338		\$202,425
Locality Name: Town of Claremo	nt (Surry County)			
Gross Receipts		No. of Licenses	Flat Rate	Proposed Revenue
\$0 - \$100,000	\$746	8	\$25.00	\$200
\$100,001 - \$250,000	ψσ		\$50.00	Ψ200
\$250,001 - \$500,000			\$150.00	
\$500,001 - \$1,000,000			\$500.00	
\$1,000,001 - \$5,000,000			\$1,000.00	
\$5,000,001 and over			\$2,500.00	
Totals	\$746	8	Ψ2,000.00	\$200
Totalo	Ψίτο			Ψ200
Locality Name: Town of Appalach	ia			
Gross Receipts	Current Revenue	No. of Licenses	Flat Rate	Proposed Revenue
\$0 - \$100,000	\$7,083	31	\$25.00	\$775
\$100,001 - \$250,000	\$1,509	3	\$50.00	\$150
\$250,001 - \$500,000	\$1,792	2	\$150.00	\$300
\$500,001 - \$1,000,000	\$7,047	4	\$500.00	\$2,000
\$1,000,001 - \$5,000,000	\$4,630	1	\$1,000.00	\$1,000
\$5,000,001 and over	\$4,753	1	\$2,500.00	\$2,500
Totals	\$26,814	42		\$6,725
Legality Name: Town of Dandran	(Curry County)		l	
Locality Name: Town of Dendron	Current Revenue	No. of Licenses	Flat Rate	Proposed Revenue
\$0 - \$100,000	\$60	2	\$25.00	\$60
\$100,001 - \$250,000	ΨΟΟ		\$50.00	ΨΟΟ
\$250,001 - \$500,000			\$150.00	
\$500,001 - \$1,000,000			\$500.00	
\$1,000,001 - \$5,000,000			\$1,000.00	
\$5,000,001 and over			\$2,500.00	
Totals	\$60	2	Ψ2,300.00	\$60
	+	_		100
Locality Name: Surry County		N		
Gross Receipts	Current Revenue	No. of Licenses		Proposed Revenue
\$0 - \$100,000	\$6,464	168	\$25.00	\$4,200
\$100,001 - \$250,000	\$4,624	20	\$50.00	\$1,000
\$250,001 - \$500,000	\$3,803	10	\$150.00	\$1,500
\$500,001 - \$1,000,000	\$2,546	3	\$500.00	\$1,500
\$1,000,001 - \$5,000,000	\$4,723	7	\$1,000.00	\$7,000
\$5,000,001 and over	\$10,219	1	\$2,500.00	\$2,500

Totals	\$32,379	209		\$17,700
Locality Name: Town of Surry (Si	urry County)			
Gross Receipts		No. of Licenses	Flat Rate	Proposed Revenue
\$0 - \$100,000	\$2,028	38	\$25.00	\$950
\$100,001 - \$250,000	\$120	1	\$50.00	
\$250,001 - \$500,000	\$335	2	\$150.00	\$300
\$500,001 - \$1,000,000	\$1,811	 5	\$500.00	
\$1,000,001 - \$5,000,000	\$1,065	2	\$1,000.00	\$2,000
\$5,000,001 and over	Ţ:,000		\$2,500.00	+-,
Totals	\$5,359	48	, , , , , , , , , , , ,	\$5,800
Locality Name: City of Frederick				
Gross Receipts		No. of Licenses		Proposed Revenue
\$0 - \$100,000	\$106,896	2,094	\$25.00	
\$100,001 - \$250,000	\$148,052	319	\$50.00	
\$250,001 - \$500,000	\$314,377	235	\$150.00	
\$500,001 - \$1,000,000	\$610,647	233	\$500.00	
\$1,000,001 - \$5,000,000	\$986,616	184	\$1,000.00	
\$5,000,001 and over	\$1,367,870	38	\$2,500.00	\$95,000
Totals	\$3,534,458	3,103		\$499,050
	"			
Locality Name:Boykins Town-Sou		Nia of Lineare	El-4 D-4-	D
Gross Receipts		No. of Licenses		Proposed Revenue
\$0 - \$100,000	\$630	21	\$25.00	\$525
\$100,001 - \$250,000	\$1,696	9	\$50.00	\$450
\$250,001 - \$500,000			\$150.00	
\$500,001 - \$1,000,000 \$1,000,001 - \$5,000,000			\$500.00	
\$1,000,001 - \$5,000,000 \$5,000,001 and over			\$1,000.00 \$2,500.00	
Totals	\$2,326	30	φ2,500.00	\$975
Totals	ΨΖ,3Ζ0	30		φ973
Locality Name:Courtland Town-S	outhampton Co			
Gross Receipts		No. of Licenses	Flat Rate	Proposed Revenue
\$0 - \$100,000	\$316	18	\$25.00	
\$100,001 - \$250,000		3	\$50.00	
\$250,001 - \$500,000	\$136		\$150.00	
\$500,001 - \$1,000,000	\$295	2 2	\$500.00	
\$1,000,001 - \$5,000,000	\$1,553	3	\$1,000.00	
\$5,000,001 and over	\$1,818	1	\$2,500.00	\$2,500
Totals	\$4,709	29		\$7,400
Locality Name: GLOUCESTER C				
Gross Receipts		No. of Licenses		Proposed Revenue
\$0 - \$100,000	83,293	1553	\$25.00	38,825
\$100,001 - \$250,000	85,054	461	\$50.00	
\$250,001 - \$500,000	65,233	154	\$150.00	23,100
\$500,001 - \$1,000,000	83,785	89	\$500.00	
\$1,000,001 - \$5,000,000	187,407	74	\$1,000.00	
\$5,000,001 and over	339,916	14	\$2,500.00	
Totals	844,688	2345		238,475

Locality Name:CITY OF SUFFOL	<u> </u>			
Gross Receipts	Current Revenue	No. of Licenses	Flat Rate	Proposed Revenue
\$0 - \$100,000	\$78,330.00	2611	\$25.00	\$65,275
\$100,001 - \$250,000	\$113,587.00	302	\$50.00	\$15,100
\$250,001 - \$500,000	\$146,307.10	200	\$150.00	\$30,000
\$500,001 - \$1,000,000	\$320,567.82	178	\$500.00	\$89,000
\$1,000,001 - \$5,000,000	\$695,822.08	155	\$1,000.00	\$155,000
\$5,000,001 and over	\$1,142,565.65	44	\$2,500.00	\$110,000
Totals	\$2,497,179.65	3490	Ψ2,000.00	\$464,375
rotalo	Ψ2, 101, 110.00	0 100		φ 10 1,01 0
Locality Name: TOWN OF CLAR	KSVILLE			
	Current Revenue	No. of Licenses	Flat Rate	Proposed Revenue
\$0 - \$100,000	\$6,141	112	\$25.00	
\$100,001 - \$250,000	\$7,306	28	\$50.00	
\$250,001 - \$500,000	\$13,027	18	\$150.00	\$2,700
\$500,001 - \$1,000,000	\$16,336	12	\$500.00	
\$1,000,001 - \$5,000,000	\$14,653	6	\$1,000.00	\$6,000
\$5,000,001 and over	\$32,628	2	\$2,500.00	\$5,000
Totals	\$90,091	178	, , , , , , , , , , , , , , , , , , , ,	\$23,900
	· , ,			. ,
Locality Name: TOWN OF CHAS	SE CITY			
Gross Receipts		No. of Licenses	Flat Rate	Proposed Revenue
\$0 - \$100,000	\$5,187	93	\$25.00	\$2,325
\$100,001 - \$250,000	\$6,685	22	\$50.00	\$1,100
\$250,001 - \$500,000	\$10,918	17	\$150.00	\$2,550
\$500,001 - \$1,000,000	\$8,974	9	\$500.00	\$4,500
\$1,000,001 - \$5,000,000	\$35,384	11	\$1,000.00	
\$5,000,001 and over	\$7,411	1	\$2,500.00	\$2,500
Totals	\$74,559	153		\$23,975
Locality Name: TOWN OF LA CF	ROSSE			
Gross Receipts	Current Revenue	No. of Licenses	Flat Rate	Proposed Revenue
\$0 - \$100,000	\$386	15	\$25.00	\$375
\$100,001 - \$250,000	\$800	4	\$50.00	\$200
\$250,001 - \$500,000	\$1,571	4	\$150.00	\$600
\$500,001 - \$1,000,000	\$0	0	\$500.00	\$0
\$1,000,001 - \$5,000,000	\$5,386	3	\$1,000.00	
\$5,000,001 and over	\$6,138	2	\$2,500.00	
Totals	\$14,281	28		\$9,175
			l	
Locality Name: TOWN OF BOYE				
·	Current Revenue	No. of Licenses		Proposed Revenue
\$0 - \$100,000	\$243	4	\$25.00	
\$100,001 - \$250,000	\$937	5	\$50.00	
\$250,001 - \$500,000	\$271	1	\$150.00	\$150
\$500,001 - \$1,000,000	\$0	0	\$500.00	\$0
\$1,000,001 - \$5,000,000	\$1,079	1	\$1,000.00	
\$5,000,001 and over	\$0	0	\$2,500.00	\$0
Totals	\$2,530	11		\$1,500
Landle No. TOWN OF CO.				
Locality Name: TOWN OF SOUT		No aftions		Dropos ad Davis
Gross Receipts	Current Revenue	No. of Licenses	riat Kate	Proposed Revenue

\$0 - \$100,000	\$189,712	396	\$25.00	\$9,900
\$100,001 - \$250,000	\$200,246	209	\$50.00	\$10,450
\$250,001 - \$500,000			\$150.00	\$0
\$500,001 - \$1,000,000			\$500.00	\$0
\$1,000,001 - \$5,000,000			\$1,000.00	
\$5,000,001 and over			\$2,500.00	\$0
Totals	\$389,958	605		\$20,350
Locality Name: GREENSVILLE (COUNTY			
Gross Receipts	Current Revenue	No. of Licenses		Proposed Revenue
\$0 - \$100,000	\$16,326	328	\$25.00	
\$100,001 - \$250,000	\$9,064	34	\$50.00	
\$250,001 - \$500,000	\$14,767	24	\$150.00	
\$500,001 - \$1,000,000	\$19,598	17	\$500.00	\$8,500
\$1,000,001 - \$5,000,000	\$21,433	7	\$1,000.00	\$7,000
\$5,000,001 and over	\$43,175	3	\$2,500.00	
Totals	\$124,363	413		\$36,500
Locality Name: Warren County				
Gross Receipts	Current Revenue	No. of Licenses		Proposed Revenue
\$0 - \$100,000	\$53,110	1743	\$25.00	
\$100,001 - \$250,000	\$86,312	312	\$50.00	
\$250,001 - \$500,000	\$127,050	199	\$150.00	-
\$500,001 - \$1,000,000	\$194,339	153	\$500.00	\$76,500
\$1,000,001 - \$5,000,000	\$465,144	132	\$1,000.00	·
\$5,000,001 and over	\$560,909	34	\$2,500.00	-
Totals	\$1,486,863	2573		\$382,525